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I, , agree to neither give nor receive any help on this

exam from others. | understand that the use of a calculator or communication device on
this exam is academic misconduct. I also understand that providing answers to questions
on this exam to other students is academic misconduct, as is taking or receiving answers
to questions on this exam from other students. Thus, I will cover my answers and not
expose my answers to other students. It is important to me to be a person of integrity and
that means ALL ANSWERS on this exam are my answers. Any violation of these

guidelines will result in a penalty of at least receiving a zero on this exam.

Signed

I. Binary Choice Questions (12 guestions worth 3 points each)

DEFN T oAl , 1) Consider the statement: “An increase in import taxes will increase retail prices and the
costs of production.” This statement is an example of:

dancolle cf- dafn 7o fec of
a. Normative Analysis. Th1es hapypen’ nel dn

@7 Positive Analysis. kv ) sio Frbos d Vi

Sse/d bt &v See it TR he

E A—S/ 2) Sam Seaborn is a speech writer. Seaborn can produce 5 speeches (S) in one day if he
receives 3 bars of gold. It is also known that, for each extra bar of gold received, Sam
produces a third of a speech. The equation that describes Sam’s offer of speeches in
terms of bars of gold (G) is:

@) S=(13)*G +4 if E=8 % 55

b. S=3*G+4 =Y G+ o
> ,%G‘;«? = J=5
§;3'6—f7’
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#Y - 3) Given the PPF in the figure below, which of the following statements is true?
) EFNIFionAL :

it

.
>

Bread

The opportunity cost of bread increases when moving along the curve from
point A topoint B. T LAw I0F INCRESTING oc

b. The opportunity cost of bread decreases when moving along the curye from
7527 -

point A to point B. £ ! 2 '
sﬂ 75 ;::)Pi@\l/

SP‘VB [1 f\
SomE 4) Indicate which option 1s correct: W\)"' ,}dff’f'
REAOING ¥ P |
INTERPRETATION 3 Consider the market for dopestic steely/trade agreements result in fewer
REGIRED : 1BUT consumers of domestic steel at the sapne time that the trade agreement calls for
N2 T HARD domesfic steel workers to receive higher wages. Given these two changes and
holding everything else constant, then the new equilibrium quantity in this
market is ambiguoy# and the new equilibrium price of steel is hi gheﬁhm the
initial price of steel.  © 7, (Vs
@ Holding everything else constant, a change in the price of the good X will
cause a movement along the demand and supply curves for good X while an
increase in GDP per capita in a country will cause the demand curve for good
X to shift. Jrue
Nor 730 5) The price of beer is expected to go down in the future. Holding everything else
/AL constant:

a. This causes a movement along the demand curve for beer.
@ This causes a shift in the demand curve for beer.

fatrbar canse 5‘4/';/— = ,f/fx/sz e F Ve
7 é‘CﬁCd/ﬂ&/’ Seon vhen at-
will dy suapd fe I Focer Wda o

et eAYeEc
/rt)( '} ,é’Cé’
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S0 6) Suppose that construction companies in the United States import cement from China
AnALIH / as an input in their production. The price of fly ash, a substitute for cement, has
NoTH AP recently surged in China because of the disruptions in their supply lines for this
product. Given this information and holding everything else constant, you predict that
these changes will lead the supply curve for the US construction industry to:

/FL}//H/*]‘ =) FCEMW?' 7‘
a. Shift to the right.

) Shift to the left. A< dpat-cortr T (pr¥ o corment rnons e
@ emeE ,(//;/Jmf/lft) fu/p/a{)/ carve will Shyfd /2 7he /tyéf

Q{f/)wﬁm/ﬁr/’ 7) The price of a good increased during the recent Great Recession of 2008. Given this
No 7 rArD information and holding everything else constant, we conclude that the good is:

Great fecesiivn = /ncome s fall =D [f ®°/
a. A normal good. aS theorme 7&//: Thcen dbood 1 an

An inferior good. . %n br(j A

HHAr2D :Loi¥ 8) Suppose that eggs and bread are complements. The outbreak of AT (avian influenza)
=y diseases resulted in the slaughter of many infected chickens. People believe that AT
does not affect the quality or safety of the eggs produced by chickens. Given this
information and holding everything else constant, the price of bread will;

[ S Genetant & D ) E451 &
a. Increase. 4
® Decreise. ><3de5 ’ >< /Dgfjr/ >@fm«,¢1¢$‘%ﬁa¢/‘r
ﬂ“f p é; -7

Bread

EAM / 9) The implementation of an effective price floor program in the market for apples will Lread
cause the that consumers pay and producers receive to

@ Price; Increase
b. Quantity; Increase

gnSumery

‘ Vi loav _7/rua . J
F WH s 7[ gﬁi{/ﬁ;w Pe
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ST o - _10) Consider the market for corn with a linear downward sloping demand curve and a
FanwATD - linear upward sloping supply curve. Under an effective government subsidy, or price
NeT HARD guarantee program, what happens to the price consumers pay and that quantity that
consumers purchase, compared to the market without the program?

The price consumers pay will decrease while the quantity they consume will
increase with this program.

b. The price consumers pay will increase while the quantity they consume will
decrease with this program.

No7 A2 11) Consider a market with an upward sloping supply curve and a downward sloping
demand curve. Suppose that an effective price ceiling is implemented by the
government into this market. This effective price ceiling will:

b. Resultin an excess supply of the good.

demand
e Sito Sv

No 74420 12) A market for a good is initially in equilibrium. Then people's incopaes rise while at
the same time the number of firms producing this product increase. If you are told
that the new equilibrium price is definitely lower than the initial equilibrium price,
then it must be the case that this good is a(n): \o Pdesmund moic ! T5hF F Jeff =D M cemet

prve 1 af each prix o oph demn

(a) Decrease the producer sugus.

a. Normal good. 50D f’_”‘ Jrrn &
@ Inferior good. jZ//y / Sewf ne fﬂ 24
C cr?:hj

.
0. ‘ price 5%'4;(“ JI.
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(3. 4 pewline p- 'b' ’ (a/nro) ¢4 om a.
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=10 I1. Multiple Ch('Jice Questions (20 guestions worth 5 points each) y
= 3XK=it2_ > /7-:3(,‘?!-/
ifksz >y N Ses sy,
HA’IZD 13) Which of the following statements is true? 7=
—
a. 1f we shift the line y = 3*x — 10, two units to the right we get the line y = 3*x — 8.
b. If we shift the line y = 3*x — 10, two units to the right we get the line y = 3*x — 12/Jo
and the equation in x-intercept form is x = 4 + y/3.
Suppose that the supply curve is initially given as Q = (1/3)P — (10/3). If the costs
of producing the good increases by $4 per unit then the new supply curve is Q =
(1/3)P — (14/3).
d. Suppose the line y = 3*x — 1 shifts 2 units to the left. This new line,intersects the TP
line y = 2/3 — x/5 when y = 10/3. d: | .71 A B 5
I (-2,-1) onnee foins
R ]V =3 Cj ”
) - L =8 X-2)F
ZSome AKX 14) The graph below shows the joint PPF for Alexis and Mario who produce computer J-/E:.(;
Wg codes and app ideas. You are told that the opportunity cost for Alexis of producingT Z 3% 5 f
one unit of computer codes (C) is 3 app ideas (A). ==
3x+572 -%s
Production of
g JOINT PRF 45X+ 75-10 "_3 X
Graph is not deaws 1o scale ’-/J’)( - —‘ S
ma'r io C = “tcfifn Wb/( # g =
@ ¢ A’IGY-I) &0 /‘/pqlpf ﬂd.}wﬂ/d
0-8-54 feritht 2 14
G 501 Wil tkce
\ Cel)lasm y
T8 : .f,O@ . anfwer
3 A- w\b‘“l‘ Al ww o Production of

Apps

Given this information and holding everything else constant, which of the following
statements is true?

I Mario's PPF can be written as C = 80— (8/3)A.V -

II. Mario has the comparative advantage in the production of computer codes. v
I1I. Alexis has the absolute advantage in the production of app ideas. v~

TV. Alexis' PPF can be written as A =100 - (1/3)C. X £=20- %

o
NE 34720
a. Statements I and IT are true.

@ Statements I, IT and IIT are true. E__:_,__.J

c. Statements I and IV are true.
d. Statements I, III and IV are true.




Ne7 707 15) Suppose that the PPF for an economy changes from graph A to graph B. Which of the

prD following statements offer the best explanation for this change?
Milk] Milkf
S
B;ead B:ead
A B

a. Foot-and-mouth disease, a severe and highly contagious viral disease among Socfrdn

cows, spreads extensively and many cows die as a result, V2 =2 /¢ f”‘/’i g ; *:4 it
b. Animal scientists at University of Wisconsin find a new technology to mcrease J

C.

o

milk production. A, milfe maenc. produchin he sr0f changed

During the growing season there is an infestation of locusts and these locusts
severely damage many grain crops.
People develop a taste for rice and now consume less bread/X TAT 22 nof S YD

.dnd/75'ff D<Ay 17 rmﬂu-:f? /gan//az&/,ﬂ/ ﬁaﬁr‘z er -~ hral"
Q{re we (4;74»6/6 d//ﬂw“al‘j



NoT 7290

16) Mark can produce cool ideas (I) or excellent cakes (C). He takes 6 hours to produce a

AAD cool idea and 2 hours to produce 30 cakes. A day of work for Mark has 12 hours.
Given this information and holding everything else constant, which of the following

statements 1s true?

a. In asingle day if Mark produces 1.5 ideas, then he can produce 1002((:a.kes.

,,o\/‘u; F 9IS cakes

b. Mark’s opportunity cost of producing an additional cake is 2 ideas. X
¢. Mark’s opportunity cost of producing an additional cake is 1/30 ideas. A |
@ Mark’s opportunity cost of producing an additional idea is 90 cakes.

NoT" JTHAT 17) John lives in the Caribbean. He spends his time reading books and writing novels.

BAD

Suppose it takes John 2 years to produce a book and it takes John 3 months to read a
book. John has three years of time to live in his Caribbean paradise before he has to

return to his usual business of engaging in economic research. Once he is back to
economic research he will have no time to write books or read books. Given this
information and holding everything else constant, which of the following statements

is true?

a. If John writes 1.25 books, then he can still read}ébooﬁ during his time in the

Caribbean. X

John’s opportunity cost of writing one book is 8 books read. I// 5 7%
¢c. If John reads 6 books while in the Caribbean, he will still be able to write W of

T
d. If John writes a novel while in the Caribbean, he will still be able to rea 4.5)< c/.

a novel. X
books. K
[ 7 B
T-2- 40 €
. - . =1.5
p | 90 '}C - Sl
b He &
: .
— D qo g ]

OCIIC b0 o Fdea
oc 4 | Tdea & 70 C

' 12‘:'%‘
%, Eycwr"73é”’“””zf l2x 523
Kejld- EW
R=12- ‘o"lf\/% 5
- ;f N’:].ZS’ g‘f )
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- h / wam/aﬂ a.ng/lf(f‘l;-—-;) fa/y/ﬂ/ 4 ;?7:(/(\%\\\}3) Jﬂ,ﬂ/ﬂ/}qﬁ/ff//f
peebics CTABLE: 18) Which of the fo W\E}J%ﬂ?‘c%ﬁls true’ , C?J
JNOETERMNANCY  Tf immigration laws grow more stringent this will result in a decrease in the
number of immigrants in the United States. It will also result in a reduction in the
number of workers in the United States. In a given market for good X, these
changes will result in a decrease in the equilibrium price in the market‘and an
indeterminate effect on the equﬂj,briu}ﬁ quantity in the market.
b. Ifimmigration laws grow more stringent this will result in a decrease in the
number of immigrants in the United States. It will also result in a reduction in the
number of workers in the United States. In a given market for good X, these
changes will result in an increase in the equilibrium price in the markét and an
. indeterminate effect on the equilibrium quantity in the market.
@ If immigration laws grow more stringent this will result in a decrease in the
number of immigrants in the United States. It will also result in a reduction in the
number of workers in the United States. In a given market for good X, these
changes will result in a decrease in the equilibrium quantity in the markesc/and an
indeterminate effect on the equilibrium price in the market. v
d. If immigration laws grow more stringent this will result in a decrease in the
number of immigrants in the United States. It will also result in a reduction in the
number of workers in the United States. In a given market for good X, th
changes will result in an increase in the equilibrium quantity in the marké?znd an
indeterminate effect on the equilibrium price in the market.

56/)75’ 19) Beer and wine are substitutes. Because of severe draught, the supply of wine was
THIub 7l hugely affected. Given this information, in which of the following scenarios will the
e change in the equilibrium quantity of beer be ambiguous?

a. The price of barley, an essential )engredmnt in beer, has fallen greatly, reducmg the
cost of producing beer greatly. A /) gzs72 F w/ /‘; Is5hiFto f

b. Researchers discover that drinking a cup of beer everyday reduces the possibility
. of cardiac diseases by 31%, and the public believes this discovery XDm J-/b“”‘/ 23 /3¢ a/[
@ Workers working at beer companies recently went on strike and successfully
demanded higher wages. v (Yzeerc 7 ¢/ /<FF 54y, /f?;ﬁf 7,},1:,, 544 /f
d. Beer companies expect the prlce of beer to falKC?g{:%% / YoHAa /
Sw/ S’““J"’

A ‘SI
/)(/‘/’hC ) \\ /
A -
e DZ
|~ o
@{ ﬁaer’
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Use the following information to answer the next three (3) questions.

Consider the production possibilities in Canada, USA, and Mexico in the table below.
The entries in the table show the maximum amount of the product the country can
produce using all their resources, technology and time to the production of the good.
All three countries are assumed to have linear production possibility frontiers.

Units of Food Computers
Canada 400 400
Mexico 500 200
USA 800 600

No7 50 44D 20) Given the above information and holding everything else constant, which of the
following statements is correct?

a. Canada has absolute advantage in the production of computers’.‘( Vs
(b) Mexico has comparative advantage in the production of food. JT
c. USA has comparative advantage in the production of computers. Not el #o Canada -F
d. USA has a smaller opportunity cost in the production of computers than
Canada. T

[HA720E7  21)In 1994 all three countries joined the North American Free Trade Agreement
(NAFTA), and that meant they could now freely trade any goods and services.
Suppose that the USA decides to import some computers and export some food.
Given this information, which of the following is a possible trading price for a
computer in terms of food?

a. One computer trades for 3/4 units of food. Z7Aer corntry ~Canads wewt T 9
(b) One computer trades for 1 unit of food. +* )

c. One computer trades for 2 units of food.

d. One computer trades for 3 units of food. ¢

/FF }/ o 22) Suppose that the USA decides to quit the North American Free Trade Agreement
[CEAD (NAFTA), and only Canada and Mexico are left in the trade agreement. Given this
0F 770N § information and holding everything else constant, which of the following statements
£0) /5 A is correct?
ANINER / i a. There are two kink points in the joint PPF of Canada and Mexico. X </ulC |
MGH T TUST b. The maximum trading price for one computer is 4/3 units of food. X ok
/(//W wvilJ c. The USA will be able to consume more units of food and computers now that
/e LEHT __ they have left the trade agreement. ¥
= d.) Canada and Mexico cannot consume as much as they used to when the trade
45 /;//2 » agreement was in place. T

12
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Use the following information to answer the next two (2) questions.

Assume that there are only four consumers of computer chips in the economy. The
equations below provide the individual demand curves for computer chips for these
four consumers where P is the price per computer chip and q is the quantity of chips
demanded by the specific individual:

Sam: P=20—-2q
John: P=20—¢q
Dan: P=10-gq
Kim: P=10-2q

23) How many statements about the market demand inside the box are correct?

T @ The market demand for computer chips is 3 when the price of computer chips 1s 18.
F |(s) When 10 < P < 20, the slope of the market demand curve is -1.5. X =~ /3

; 2 (¢ When 0 < P < 10, the slope of the market demand curve is -1/3. v , %= ‘V;
F (*) The x-intercept of the market demand curve is 60. 2% ih lbrcc,/)f?’ 45

a. Ome statement is true.
@ Two statements are true.

¢. Three statements are true.

d. Four statements are true.

[BAcic OF 24) Now, suppose the market supply curve goes through the origin and the kink of the
LINCOLN : market demand curve that you derived in the last question. Assume there are only two
w750 SAD identical firms producing computer chips in the economy. Given the above
N A/ information and holding everything else constant, what is the slope of each
/F )/0“ ¢ p individual firm’s supply curve?
nsgf 1T
. - b P
@ o3 if P14, whet s Q°
6. 32 Fc}O",/BCQM ff
d 3/4 for o p Segmente

0 dam o Joka  Dar B - da E,’»/’j

[8=20¥3)®

20 2w P i 7% Q=2
Ao bk 823
b , -

& (o 2’& ' 10& S o < 4y
o 5 P=35a




7OUGH  25) The table below depicts average earnings and earnings inequality - measured by a
INE " Gini Index - on earnings, for Greece, Norway and the United States. Inequality is
measured in ascending form by the index: that is, a low Gini Index number (close to
zero) for a country represents lower income inequality while a high Gini Index
number (close to one) for a country represents higher income inequality.

Average hourly Earnings
Country Age earnings inequality
(in US Dollars) (Gini Index)
15-29 827 0.17
Greece 30-49 12.57 0.17
50-64 13.34 017 o
15-29 2169 0.12
Norway 30-49 33.25 0.12
50-64 35.05 0.12
15-29 17.88 0.35
United States 30-49 28.79 0.35
50-64 30.22 0.35

[Data Source: OECD Stat]

Based on the information given, it is correct to say that:

cLoSe
REALING

REGURED P
Hexe!
©

d.

a.

The inequality of earnings in hg nited States is lem\ﬁg'n 200% of the inequality
of earnings of Greece and m an 300% of the Norwegian one. = £S5 Ao
The earnings of the Greeks in the range 50-64 years of age 1s slightlyn
30% of the Norwegian in the same threshold(@nd the Norwegian inequality of
earnings in the same age range is less than 30% of the North American one.
Greeks in all three age ranges earn less than 50% of the wages of the Americans
in the same category but the level of American income inequay as measured by

the Gini Index number is more than 100% that of the Greeks.

Norway is the country that has the lowest level of incomg/€quality Jas measured by
the Gini Index number amongst the three nations. ~—— :

D Showld be th 74@&,;%

b) 309 f6 Md‘awxc%xam o~ S0-6Y :-,jad'/l) 1,036

036+ 12=./56F . /F

¢0).50(35)7 /p507./%)

-35"'*’7150: L5 1) > /007
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Use the following information to answer the next three (3) questions.

The demand and supply equations for eggplants are given by the following equations,
where Q is the quantity measured in pounds and P is price per pound:

Demand for eggplant: P=20-Q
Supply for eggplant: P =2 +2Q

The government intends to interfere in the market with a price support or price
guarantee program. The cost to the government of storing eggplants that are not
purchased in the market by consumers is $2 per pound of eggplant.

NOT HpreD 26) Suppose the government implements a price support program and sets the price
support price at $16 per pound of eggplant. The cost to the government for this
program including storage costs is and the producer surplus after the

implementation of the price support progre.lfm 18 . £ g
gout buys Jpreedt 1E4gpolscT

a. $48; $49 C = Yp
(b) $54; $49 costifpm it j’; /3 = £ .
c. $32;3$36 F Shhage co 14 ~ g
d. $49; $48 4, 5%
’ A =5Cl6-2)(P) ="C7 “psnzssrar
_ HE2E —ONLY
A Lo7 oF 27) Now suppose the government wants to replace the price support program with a price %Mifm
wWorK * guarantee program or subsidy program that costs a similar amount as the price bor 7H- BS S
HAard support program from the previous question. Which of the following subsidy amounts

per pound of eggplant results in the government cost of the price guarantee program
being closest to the cost to the government of the price support program?

a. $4 per pound of eggplant
@ $6 per pound of eggplant

. $8 per pound of eggplant

d. $10 per pound of eggplant

28) In comparing the consumer and producer surplus of the price support and price
Some guarantee program in the previous two questions, which of the following statements
REAlN! NS is true regarding the consumer and producer surpluses?

E: - : _ :
ggéwﬁ e a. The price suppoﬁ program has a bigger consumer surpléls{,”the price guarantee
HARD '’ program has a bigger producer surplus. S&g
’ The price support program has a bigger producer surplus, the price guarantee

b.
program has a bigger consumer surplus.
@ The price guarantee program has a bigger consumer and producer surplus.
d. There is no consumer surplus in the price guarantee program. /¢

L, (et oy fege e

- 17 - cs b o U2 ¢S Loe-2)(E)
£s= 42 L ie K7 P< f:gzg': -:LU'Y ”%
ps= Bt /TN % <) 16776
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1

Use the following information to answer the next three (3) questions.

Consider the market for gasoline. The supply and demand curves, measured in gallons,
are represented by the following equations:

Supply for Gasoline: Q = 4P
Demand for Gasoline: Q =200 —P

NoT/3 AP 29) Suppose the government implements a price ceiling of $20 per gallon of gasoline in
this market. What is the deadweight loss arising from the implementation of this price

ceiling?

_a. $3,000

D $4,000
c. $5,000
d. $6,000

Jomi& 30) The value of consumer surplus after implementing this price ceiling is . Of the
worK original producer surplus, after the implementation of the price ceiling, .
withpriweldig( § ¢ L a0 130)Che) # (00 (80)

a. $3,200;$1,600 is lost to deadweight loss = 3200+ Fpoo=(/l, 20°

b. $14,400; $2,800 is lost to deadweight loss or "captured” by consumers

c. $3,200; the new producer surplus is now $800

@ $1,600 less than the initial value of consumer surplus; $1,600 is "captured" by . pgoe
consumers ¥~ Vel 5;‘41%2‘/47 - 7{-(/50)(/50): Fo(160) -

S 4 200
.-—-—'_"

Ain €5 —> 4800

/60 0
No7 se/oA4 £ 31) The government wants to understand how the implementation of this price ceiling Vof

impacts the total surplus in the market. What is the net change in total surplus (that is,
what is the difference between the TS without the price ceiling minus the TS with the
price ceiling) after the implementation of this government policy? "
p o ‘ 60)
- e 2 = ol J—"") '
@ TS decreases by $4,000 75 b‘ﬁ’"‘ /9”}1 ' L160) = ’4}40&0
b. TS increases by $4,000 = [fo°
c. TS decreases by $8,000 4
d. TS increases by $8,000 75 W’)ﬁ/"”é‘ a/Z)y _ A
1y 2 Py prie el
= O Suyproe cerly il

/1200 + 5 (20)(%)
= J1y00 # 800 =1%7

4
TSy by 4,000
. 71_ C//M—ac;)(/éﬁ"%)
.«h/)*/‘": b = o0V
= £ C/(/")(?v) =

Dt VJ/&FYA?TS’ W//r:ka/&h;;
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32) One of the graphs below shows the market demand and supply curves for yogurt. All
supply curves in the graphs below have a slope of two. Given the information in the
box, which graph would correctly specify the yogurt demand and supply curves?

e AtP =11, there is an excess demand for yogurt.
e At P =16, there is an excess supply of yogurt.
e The equilibrium quantity is above 3.

S F: o+ 20
20 =12
p= QO‘QQ
k )03” -
&
@*'= 2 Exasr D ot
10 007%5- =
e IG3 Sa7
e
go, 2 a%é

2.8 o lor2@p=20-2%

/0
)
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END OF EXAM

(This page is intentionally left blank as an extra work sheet.)
DO NOT DETACH THIS SHEET FROM THIS EXAM BOOKLET!
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